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2,000,000 *47H 2 8,000
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HE =0 JsHAXAAG (KHAY) 69,000 42,000 27,000
307 @12t0| & 69,000 42,000 27,000
02 QB HANEER 69,000 42,000 27,000
OFE=0l A=H X
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s8I SSs4 XN 256,000 198,400 57,600
= 48,000
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307 elztol & 256,000 198,400 57,600
= 48,000
Ea 208,000
02 2B YAIHE A 256,000 198,400 57,600
OsHIl 3524 XAE(2HIFIt 96,000
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01 IR SASE X (XHMITHR) 130,000 130,000
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= 4,119
01 At22t2lt] 4,119 0 4,119
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E=01(£0], 4) X 500,000 425,000 75,000
301 EtE N = 500,000 425,000 75,000
14 DBt 2 a=S 500,000 425,000 75,000
S=01(501, &%) X
5,000 %100,000% 500,000
IsFU=E 28 dEE XNE 60 1,430 1,370
== 18
e 42
301 2eEN= 60 1,430 21,370
< 18
s 42
14 JIEt2d=3 60 1,430 1,370
OUsRLE B2 OMEE XY
120,0002%0.5ha 60
= 18
Ea 42
SIS EESAY 4,752 2,664 2,088
== 950
o 3,802
201 =3 4,752 2,664 2,088
== 950
= 3,802
01 At2teltl 4,752 2,664 2,088
Ost=s2IE Bt
72,0002 +66<= 4,752
= 950
Ea 3,802
ASESNE 54 L AEXE 3,034,288 3,078,819 N44,531
= 7,724
Jl 302,852
[ 1,080,133
Ea 1,643,579




SN SYEH
B SUDTNM U SIASED
ol NAS3R2 854 U ALK (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-Z—;’F—IP% SN (S ES HILGIRA) (HEA 1,062,280 1,144,800 A92,520
(<2
= 876,900
Ea 175,380
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= 876,900
o 175,380
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